

ROUND 3 SUMMARY
2026 Honda LPGA Thailand
Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00
Par: 36 36 - 72 Yardage: 6649

POS	NAME	SCORES	TOTAL	TO PAR
1	Jeeno Thitikul	67-63-66	196	-20
2	Hyo Joo Kim	68-65-65	198	-18
T3	Allisen Corpuz	67-65-67	199	-17
T3	Chizzy Iwai	69-62-68	199	-17
T3	Somi Lee	66-61-72	199	-17
6	Lydia Ko	67-64-69	200	-16
T7	Hannah Green	67-65-69	201	-15
T7	Julia Lopez Ramirez	67-65-69	201	-15
9	Andrea Lee	68-68-66	202	-14
10	Hye-Jin Choi	66-70-67	203	-13
T11	Chanoknan Angurasarane *	71-69-64	204	-12
T11	Sei Young Kim	73-65-66	204	-12
T11	Auston Kim	68-69-67	204	-12
T11	Haeran Ryu	72-64-68	204	-12
T11	Yuri Yoshida *	69-67-68	204	-12
T11	Chanettee Wannasaen	65-71-68	204	-12
T11	Mi Hyang Lee	70-63-71	204	-12
T18	Ariya Jutanugarn	67-71-67	205	-11
T18	Nanna Koerstz Madsen	69-67-69	205	-11
T18	Maja Stark	68-68-69	205	-11
T18	Miyu Yamashita	68-67-70	205	-11
T22	A Lim Kim	74-68-64	206	-10
T22	Lucy Li	72-69-65	206	-10
T22	Ruoning Yin	70-69-67	206	-10
T22	Leona Maguire	67-72-67	206	-10
T22	Linn Grant	68-70-68	206	-10
T27	Brooke Matthews	72-65-70	207	-9
T27	Nasa Hataoka	65-72-70	207	-9
T29	Pajaree Anannarukarn	68-72-68	208	-8
T29	Jenny Bae	70-69-69	208	-8
T29	Pauline Roussin-Bouchard	68-71-69	208	-8
T29	Minami Katsu	70-65-73	208	-8
T29	Grace Kim	67-68-73	208	-8
T34	Lottie Woad	71-71-67	209	-7
T34	Brooke M. Henderson	71-68-70	209	-7
T34	Ayaka Furue	69-68-72	209	-7
T34	Cassie Porter	67-70-72	209	-7
T38	Lindy Duncan	70-71-69	210	-6
T38	Jin Hee Im	69-70-71	210	-6
T38	Pornanong Phatlum *	70-68-72	210	-6
T38	Muni He *	72-64-74	210	-6
T42	Yan Liu	75-69-67	211	-5
T42	Rio Takeda	72-69-70	211	-5
T42	Celine Boutier	69-72-70	211	-5
T42	Gurleen Kaur	72-64-75	211	-5
T46	Yealimi Noh	75-70-67	212	-4
T46	Gaby Lopez	69-73-70	212	-4
T46	Akie Iwai	71-70-71	212	-4
T46	Karis Anne Davidson	74-66-72	212	-4

ROUND 3 SUMMARY
2026 Honda LPGA Thailand
Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00
Par: 36 36 - 72 Yardage: 6649

POS	NAME	SCORES	TOTAL	TO PAR
T46	Ina Yoon	67-73-72	212	-4
T46	Jennifer Kupcho	68-70-74	212	-4
T52	Megan Khang	75-69-69	213	-3
T52	Angel Yin	69-75-69	213	-3
T52	Manon De Roey	72-71-70	213	-3
T52	Nataliya Guseva	68-74-71	213	-3
T52	Jin Young Ko	72-67-74	213	-3
T52	Gemma Dryburgh	66-73-74	213	-3
T58	Rin Yoshida *	72-71-71	214	-2
T58	Saki Baba	70-72-72	214	-2
T58	Gianna Clemente *	69-69-76	214	-2
61	Ingrid Lindblad	70-72-74	216	E
62	Yuka Saso *	74-70-73	217	+1
63	Stephanie Kyriacou	69-77-72	218	+2
64	Esther Henseleit	74-73-72	219	+3
65	Carlota Ciganda	75-75-70	220	+4
T66	Robyn Choi	74-74-73	221	+5
T66	Naruha Miyata *	72-75-74	221	+5
T66	Prim Prachnakorn (a) *	74-72-75	221	+5
69	Wei-Ling Hsu	73-72-77	222	+6
70	Benedetta Moresco *	74-75-75	224	+8
71	Moriya Jutanugarn *	73-75-77	225	+9
72	Danielle Kang *	73-78-76	227	+11

PLAYER HOLE STATISTICS - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Jeeno Thitikul (-20)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	15 / 18 (0.833)	2 / 2 (1.000)	(271.5)	28	25 / 1.67	0	67	-5
2	SIA	13 / 14 (0.929)	15 / 18 (0.833)	0 / 0 (0.000)	(267.0)	25	22 / 1.47	0	63	-9
3	SIA	11 / 14 (0.786)	14 / 18 (0.778)	1 / 1 (1.000)	(247.5)	27	22 / 1.57	0	66	-6
TOTAL:		36 / 42 (0.857)	44 / 54 (0.815)	3 / 3 (1.000)	(262.0)	80	69 / 1.57	0	196	-20

Hyo Joo Kim (-18)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	14 / 14 (1.000)	17 / 18 (0.944)	0 / 0 (0.000)	(251.5)	31	30 / 1.76	1	68	-4
2	SIA	12 / 14 (0.857)	10 / 18 (0.556)	0 / 0 (0.000)	(248.0)	22	14 / 1.40	0	65	-7
3	SIA	14 / 14 (1.000)	15 / 18 (0.833)	2 / 3 (0.667)	(263.0)	27	23 / 1.53	1	65	-7
TOTAL:		40 / 42 (0.952)	42 / 54 (0.778)	2 / 3 (0.667)	(254.2)	80	67 / 1.60	2	198	-18

Allisen Corpuz (-17)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	14 / 18 (0.778)	0 / 0 (0.000)	(267.5)	28	24 / 1.71	0	67	-5
2	SIA	14 / 14 (1.000)	14 / 18 (0.778)	0 / 1 (0.000)	(258.5)	26	21 / 1.50	0	65	-7
3	SIA	12 / 14 (0.857)	15 / 18 (0.833)	0 / 0 (0.000)	(276.0)	29	25 / 1.67	0	67	-5
TOTAL:		38 / 42 (0.905)	43 / 54 (0.796)	0 / 1 (0.000)	(267.3)	83	70 / 1.63	0	199	-17

Chizzy Iwai (-17)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	14 / 18 (0.778)	0 / 1 (0.000)	(242.5)	30	25 / 1.79	0	69	-3
2	SIA	13 / 14 (0.929)	17 / 18 (0.944)	0 / 0 (0.000)	(258.0)	26	25 / 1.47	0	62	-10
3	SIA	9 / 14 (0.643)	12 / 18 (0.667)	0 / 0 (0.000)	(254.0)	26	20 / 1.67	0	68	-4
TOTAL:		34 / 42 (0.810)	43 / 54 (0.796)	0 / 1 (0.000)	(251.5)	82	70 / 1.63	0	199	-17

Somi Lee (-17)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	16 / 18 (0.889)	1 / 1 (1.000)	(270.0)	28	26 / 1.63	0	66	-6
2	SIA	14 / 14 (1.000)	16 / 18 (0.889)	0 / 0 (0.000)	(254.0)	25	23 / 1.44	0	61	-11
3	SIA	10 / 14 (0.714)	10 / 18 (0.556)	0 / 0 (0.000)	(264.5)	29	18 / 1.80	1	72	E
TOTAL:		36 / 42 (0.857)	42 / 54 (0.778)	1 / 1 (1.000)	(262.8)	82	67 / 1.60	1	199	-17

Lydia Ko (-16)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	11 / 18 (0.611)	0 / 0 (0.000)	(260.0)	24	16 / 1.45	0	67	-5
2	SIA	13 / 14 (0.929)	16 / 18 (0.889)	0 / 0 (0.000)	(271.0)	28	26 / 1.63	0	64	-8
3	SIA	10 / 14 (0.714)	13 / 18 (0.722)	0 / 2 (0.000)	(259.0)	28	22 / 1.69	1	69	-3
TOTAL:		35 / 42 (0.833)	40 / 54 (0.741)	0 / 2 (0.000)	(263.3)	80	64 / 1.60	1	200	-16

Hannah Green (-15)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	14 / 18 (0.778)	0 / 1 (0.000)	(263.0)	27	21 / 1.50	0	67	-5
2	SIA	14 / 14 (1.000)	15 / 18 (0.833)	0 / 0 (0.000)	(256.5)	26	23 / 1.53	0	65	-7
3	SIA	9 / 14 (0.643)	14 / 18 (0.778)	1 / 1 (1.000)	(271.5)	30	25 / 1.79	1	69	-3
TOTAL:		35 / 42 (0.833)	43 / 54 (0.796)	1 / 2 (0.500)	(263.7)	83	69 / 1.60	1	201	-15

PLAYER HOLE STATISTICS - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Julia Lopez Ramirez (-15)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	10 / 14 (0.714)	16 / 18 (0.889)	2 / 2 (1.000)	(235.0)	30	27 / 1.69	0	67	-5
2	SIA	12 / 14 (0.857)	16 / 18 (0.889)	1 / 1 (1.000)	(302.5)	27	26 / 1.63	0	65	-7
3	SIA	10 / 14 (0.714)	15 / 18 (0.833)	0 / 0 (0.000)	(300.0)	31	26 / 1.73	1	69	-3
TOTAL:		32 / 42 (0.762)	47 / 54 (0.870)	3 / 3 (1.000)	(279.2)	88	79 / 1.68	1	201	-15

Andrea Lee (-14)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	14 / 14 (1.000)	16 / 18 (0.889)	0 / 1 (0.000)	(247.0)	30	27 / 1.69	0	68	-4
2	SIA	12 / 14 (0.857)	16 / 18 (0.889)	0 / 1 (0.000)	(250.0)	30	28 / 1.75	1	68	-4
3	SIA	11 / 14 (0.786)	15 / 18 (0.833)	0 / 1 (0.000)	(248.5)	26	24 / 1.60	0	66	-6
TOTAL:		37 / 42 (0.881)	47 / 54 (0.870)	0 / 3 (0.000)	(248.5)	86	79 / 1.68	1	202	-14

Hye-Jin Choi (-13)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	11 / 14 (0.786)	13 / 18 (0.722)	0 / 0 (0.000)	(258.5)	26	20 / 1.54	0	66	-6
2	SIA	9 / 14 (0.643)	14 / 18 (0.778)	1 / 2 (0.500)	(259.0)	29	24 / 1.71	0	70	-2
3	SIA	11 / 14 (0.786)	17 / 18 (0.944)	0 / 0 (0.000)	(272.0)	30	30 / 1.76	1	67	-5
TOTAL:		31 / 42 (0.738)	44 / 54 (0.815)	1 / 2 (0.500)	(263.2)	85	74 / 1.68	1	203	-13

Chanoknan Angurasarane * (-12)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(269.5)	30	24 / 1.71	0	71	-1
2	SIA	11 / 14 (0.786)	15 / 18 (0.833)	0 / 1 (0.000)	(264.0)	31	27 / 1.80	0	69	-3
3	SIA	11 / 14 (0.786)	13 / 18 (0.722)	1 / 1 (1.000)	(261.5)	23	19 / 1.46	0	64	-8
TOTAL:		33 / 42 (0.786)	42 / 54 (0.778)	1 / 2 (0.500)	(265.0)	84	70 / 1.67	0	204	-12

Sei Young Kim (-12)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	13 / 14 (0.929)	13 / 18 (0.722)	0 / 1 (0.000)	(260.0)	32	25 / 1.92	0	73	+1
2	SIA	13 / 14 (0.929)	11 / 18 (0.611)	2 / 2 (1.000)	(270.5)	24	16 / 1.45	0	65	-7
3	SIA	11 / 14 (0.786)	16 / 18 (0.889)	0 / 0 (0.000)	(261.0)	28	27 / 1.69	0	66	-6
TOTAL:		37 / 42 (0.881)	40 / 54 (0.741)	2 / 3 (0.667)	(263.8)	84	68 / 1.70	0	204	-12

Auston Kim (-12)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	9 / 14 (0.643)	15 / 18 (0.833)	0 / 0 (0.000)	(301.5)	30	24 / 1.60	0	68	-4
2	SIA	7 / 14 (0.500)	12 / 18 (0.667)	0 / 0 (0.000)	(277.5)	28	21 / 1.75	1	69	-3
3	SIA	8 / 14 (0.571)	12 / 18 (0.667)	1 / 2 (0.500)	(276.5)	26	19 / 1.58	1	67	-5
TOTAL:		24 / 42 (0.571)	39 / 54 (0.722)	1 / 2 (0.500)	(285.2)	84	64 / 1.64	2	204	-12

Haeran Ryu (-12)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	8 / 14 (0.571)	14 / 18 (0.778)	0 / 0 (0.000)	(270.5)	33	27 / 1.93	1	72	E
2	SIA	11 / 14 (0.786)	17 / 18 (0.944)	0 / 1 (0.000)	(271.0)	28	27 / 1.59	0	64	-8
3	SIA	11 / 14 (0.786)	16 / 18 (0.889)	0 / 2 (0.000)	(277.5)	30	28 / 1.75	0	68	-4
TOTAL:		30 / 42 (0.714)	47 / 54 (0.870)	0 / 3 (0.000)	(273.0)	91	82 / 1.74	1	204	-12

PLAYER HOLE STATISTICS - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Yuri Yoshida * (-12)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	13 / 14 (0.929)	14 / 18 (0.778)	0 / 0 (0.000)	(250.0)	29	25 / 1.79	0	69	-3
2	SIA	10 / 14 (0.714)	14 / 18 (0.778)	0 / 0 (0.000)	(250.0)	27	22 / 1.57	0	67	-5
3	SIA	7 / 14 (0.500)	12 / 18 (0.667)	1 / 1 (1.000)	(251.0)	26	19 / 1.58	0	68	-4
TOTAL:		30 / 42 (0.714)	40 / 54 (0.741)	1 / 1 (1.000)	(250.3)	82	66 / 1.65	0	204	-12

Chanettee Wannasaen (-12)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	13 / 14 (0.929)	17 / 18 (0.944)	1 / 1 (1.000)	(284.0)	28	27 / 1.59	2	65	-7
2	SIA	13 / 14 (0.929)	13 / 18 (0.722)	0 / 2 (0.000)	(259.5)	29	23 / 1.77	0	71	-1
3	SIA	11 / 14 (0.786)	11 / 18 (0.611)	0 / 2 (0.000)	(260.0)	25	18 / 1.64	0	68	-4
TOTAL:		37 / 42 (0.881)	41 / 54 (0.759)	1 / 5 (0.200)	(267.8)	82	68 / 1.66	2	204	-12

Mi Hyang Lee (-12)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	9 / 14 (0.643)	11 / 18 (0.611)	2 / 2 (1.000)	(251.0)	27	19 / 1.73	0	70	-2
2	SIA	10 / 14 (0.714)	16 / 18 (0.889)	0 / 0 (0.000)	(258.0)	25	22 / 1.38	0	63	-9
3	SIA	11 / 14 (0.786)	15 / 18 (0.833)	0 / 1 (0.000)	(258.5)	32	27 / 1.80	1	71	-1
TOTAL:		30 / 42 (0.714)	42 / 54 (0.778)	2 / 3 (0.667)	(255.8)	84	68 / 1.62	1	204	-12

Ariya Jutanugarn (-11)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	10 / 14 (0.714)	14 / 18 (0.778)	0 / 1 (0.000)	(258.5)	27	21 / 1.50	1	67	-5
2	SIA	9 / 14 (0.643)	12 / 18 (0.667)	2 / 2 (1.000)	(258.5)	26	19 / 1.58	0	71	-1
3	SIA	11 / 14 (0.786)	13 / 18 (0.722)	1 / 1 (1.000)	(267.5)	26	21 / 1.62	0	67	-5
TOTAL:		30 / 42 (0.714)	39 / 54 (0.722)	3 / 4 (0.750)	(261.5)	79	61 / 1.56	1	205	-11

Nanna Koerstz Madsen (-11)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	8 / 14 (0.571)	11 / 18 (0.611)	1 / 1 (1.000)	(263.5)	26	18 / 1.64	1	69	-3
2	SIA	11 / 14 (0.786)	16 / 18 (0.889)	0 / 0 (0.000)	(269.0)	29	26 / 1.63	0	67	-5
3	SIA	7 / 14 (0.500)	14 / 18 (0.778)	0 / 0 (0.000)	(258.5)	30	26 / 1.86	0	69	-3
TOTAL:		26 / 42 (0.619)	41 / 54 (0.759)	1 / 1 (1.000)	(263.7)	85	70 / 1.71	1	205	-11

Maja Stark (-11)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	11 / 14 (0.786)	15 / 18 (0.833)	0 / 0 (0.000)	(265.0)	30	26 / 1.73	0	68	-4
2	SIA	11 / 14 (0.786)	17 / 18 (0.944)	0 / 0 (0.000)	(284.5)	32	31 / 1.82	0	68	-4
3	SIA	10 / 14 (0.714)	15 / 18 (0.833)	2 / 2 (1.000)	(271.0)	30	27 / 1.80	0	69	-3
TOTAL:		32 / 42 (0.762)	47 / 54 (0.870)	2 / 2 (1.000)	(273.5)	92	84 / 1.79	0	205	-11

Miyu Yamashita (-11)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	16 / 18 (0.889)	0 / 0 (0.000)	(243.5)	30	28 / 1.75	1	68	-4
2	SIA	13 / 14 (0.929)	16 / 18 (0.889)	0 / 1 (0.000)	(256.0)	29	27 / 1.69	0	67	-5
3	SIA	12 / 14 (0.857)	14 / 18 (0.778)	1 / 1 (1.000)	(245.0)	30	24 / 1.71	2	70	-2
TOTAL:		37 / 42 (0.881)	46 / 54 (0.852)	1 / 2 (0.500)	(248.2)	89	79 / 1.72	3	205	-11

PLAYER HOLE STATISTICS - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

A Lim Kim (-10)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	14 / 18 (0.778)	1 / 1 (1.000)	(276.5)	32	28 / 2.00	2	74	+2
2	SIA	13 / 14 (0.929)	14 / 18 (0.778)	0 / 0 (0.000)	(289.5)	28	24 / 1.71	0	68	-4
3	SIA	12 / 14 (0.857)	14 / 18 (0.778)	0 / 1 (0.000)	(274.0)	24	20 / 1.43	0	64	-8
TOTAL:		37 / 42 (0.881)	42 / 54 (0.778)	1 / 2 (0.500)	(280.0)	84	72 / 1.71	2	206	-10

Lucy Li (-10)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	11 / 14 (0.786)	12 / 18 (0.667)	0 / 1 (0.000)	(261.0)	30	22 / 1.83	0	72	E
2	SIA	13 / 14 (0.929)	13 / 18 (0.722)	0 / 0 (0.000)	(260.5)	29	23 / 1.77	0	69	-3
3	SIA	10 / 14 (0.714)	15 / 18 (0.833)	0 / 0 (0.000)	(258.0)	26	23 / 1.53	0	65	-7
TOTAL:		34 / 42 (0.810)	40 / 54 (0.741)	0 / 1 (0.000)	(259.8)	85	68 / 1.70	0	206	-10

Ruoning Yin (-10)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	11 / 14 (0.786)	15 / 18 (0.833)	0 / 0 (0.000)	(256.5)	30	26 / 1.73	0	70	-2
2	SIA	12 / 14 (0.857)	10 / 18 (0.556)	0 / 0 (0.000)	(248.5)	24	15 / 1.50	0	69	-3
3	SIA	11 / 14 (0.786)	10 / 18 (0.556)	0 / 0 (0.000)	(240.5)	23	14 / 1.40	0	67	-5
TOTAL:		34 / 42 (0.810)	35 / 54 (0.648)	0 / 0 (0.000)	(248.5)	77	55 / 1.57	0	206	-10

Leona Maguire (-10)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	13 / 14 (0.929)	14 / 18 (0.778)	1 / 1 (1.000)	(242.0)	27	22 / 1.57	0	67	-5
2	SIA	11 / 14 (0.786)	12 / 18 (0.667)	0 / 1 (0.000)	(242.0)	30	21 / 1.75	1	72	E
3	SIA	10 / 14 (0.714)	14 / 18 (0.778)	0 / 1 (0.000)	(245.0)	27	22 / 1.57	0	67	-5
TOTAL:		34 / 42 (0.810)	40 / 54 (0.741)	1 / 3 (0.333)	(243.0)	84	65 / 1.63	1	206	-10

Linn Grant (-10)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	7 / 14 (0.500)	12 / 18 (0.667)	0 / 0 (0.000)	(266.0)	26	20 / 1.67	0	68	-4
2	SIA	11 / 14 (0.786)	13 / 18 (0.722)	1 / 2 (0.500)	(272.0)	31	25 / 1.92	2	70	-2
3	SIA	9 / 14 (0.643)	10 / 18 (0.556)	0 / 0 (0.000)	(256.5)	24	16 / 1.60	0	68	-4
TOTAL:		27 / 42 (0.643)	35 / 54 (0.648)	1 / 2 (0.500)	(264.8)	81	61 / 1.74	2	206	-10

Brooke Matthews (-9)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	6 / 14 (0.429)	11 / 18 (0.611)	0 / 1 (0.000)	(295.0)	29	20 / 1.82	1	72	E
2	SIA	12 / 14 (0.857)	15 / 18 (0.833)	0 / 1 (0.000)	(289.5)	26	22 / 1.47	0	65	-7
3	SIA	7 / 14 (0.500)	12 / 18 (0.667)	1 / 2 (0.500)	(285.0)	27	19 / 1.58	0	70	-2
TOTAL:		25 / 42 (0.595)	38 / 54 (0.704)	1 / 4 (0.250)	(289.8)	82	61 / 1.61	1	207	-9

Nasa Hataoka (-9)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	13 / 14 (0.929)	14 / 18 (0.778)	0 / 0 (0.000)	(264.0)	26	21 / 1.50	0	65	-7
2	SIA	12 / 14 (0.857)	8 / 18 (0.444)	0 / 2 (0.000)	(257.0)	27	13 / 1.63	1	72	E
3	SIA	12 / 14 (0.857)	12 / 18 (0.667)	1 / 1 (1.000)	(257.5)	25	19 / 1.58	1	70	-2
TOTAL:		37 / 42 (0.881)	34 / 54 (0.630)	1 / 3 (0.333)	(259.5)	78	53 / 1.56	2	207	-9

PLAYER HOLE STATISTICS - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Pajaree Anannarukarn (-8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	12 / 18 (0.667)	0 / 1 (0.000)	(250.5)	25	20 / 1.67	0	68	-4
2	SIA	11 / 14 (0.786)	16 / 18 (0.889)	0 / 1 (0.000)	(263.0)	34	30 / 1.88	0	72	E
3	SIA	11 / 14 (0.786)	16 / 18 (0.889)	0 / 0 (0.000)	(256.0)	30	28 / 1.75	0	68	-4
TOTAL:		34 / 42 (0.810)	44 / 54 (0.815)	0 / 2 (0.000)	(256.5)	89	78 / 1.77	0	208	-8

Jenny Bae (-8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	9 / 14 (0.643)	17 / 18 (0.944)	0 / 0 (0.000)	(273.5)	33	32 / 1.88	0	70	-2
2	SIA	11 / 14 (0.786)	14 / 18 (0.778)	0 / 2 (0.000)	(270.5)	29	23 / 1.64	0	69	-3
3	SIA	12 / 14 (0.857)	11 / 18 (0.611)	0 / 1 (0.000)	(264.5)	26	18 / 1.64	0	69	-3
TOTAL:		32 / 42 (0.762)	42 / 54 (0.778)	0 / 3 (0.000)	(269.5)	88	73 / 1.74	0	208	-8

Pauline Roussin-Bouchard (-8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	5 / 14 (0.357)	11 / 18 (0.611)	3 / 4 (0.750)	(266.0)	25	17 / 1.55	0	68	-4
2	SIA	10 / 14 (0.714)	13 / 18 (0.722)	2 / 3 (0.667)	(273.5)	30	24 / 1.85	0	71	-1
3	SIA	12 / 14 (0.857)	15 / 18 (0.833)	1 / 2 (0.500)	(271.5)	30	25 / 1.67	1	69	-3
TOTAL:		27 / 42 (0.643)	39 / 54 (0.722)	6 / 9 (0.667)	(270.3)	85	66 / 1.69	1	208	-8

Minami Katsu (-8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	13 / 18 (0.722)	1 / 1 (1.000)	(272.5)	29	23 / 1.77	0	70	-2
2	SIA	13 / 14 (0.929)	12 / 18 (0.667)	3 / 4 (0.750)	(257.0)	21	16 / 1.33	0	65	-7
3	SIA	8 / 14 (0.571)	12 / 18 (0.667)	0 / 1 (0.000)	(250.0)	28	20 / 1.67	1	73	+1
TOTAL:		33 / 42 (0.786)	37 / 54 (0.685)	4 / 6 (0.667)	(259.8)	78	59 / 1.59	1	208	-8

Grace Kim (-8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	11 / 14 (0.786)	12 / 18 (0.667)	1 / 1 (1.000)	(266.5)	26	19 / 1.58	0	67	-5
2	SIA	11 / 14 (0.786)	12 / 18 (0.667)	0 / 1 (0.000)	(253.5)	25	18 / 1.50	0	68	-4
3	SIA	12 / 14 (0.857)	10 / 18 (0.556)	0 / 2 (0.000)	(251.5)	29	17 / 1.70	1	73	+1
TOTAL:		34 / 42 (0.810)	34 / 54 (0.630)	1 / 4 (0.250)	(257.2)	80	54 / 1.59	1	208	-8

Lottie Woad (-7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	14 / 14 (1.000)	16 / 18 (0.889)	1 / 2 (0.500)	(268.5)	33	30 / 1.88	1	71	-1
2	SIA	10 / 14 (0.714)	14 / 18 (0.778)	0 / 0 (0.000)	(253.5)	30	24 / 1.71	0	71	-1
3	SIA	12 / 14 (0.857)	16 / 18 (0.889)	2 / 3 (0.667)	(262.0)	29	26 / 1.63	0	67	-5
TOTAL:		36 / 42 (0.857)	46 / 54 (0.852)	3 / 5 (0.600)	(261.3)	92	80 / 1.74	1	209	-7

Brooke M. Henderson (-7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(252.0)	29	20 / 1.67	0	71	-1
2	SIA	12 / 14 (0.857)	17 / 18 (0.944)	1 / 1 (1.000)	(259.0)	32	31 / 1.82	1	68	-4
3	SIA	11 / 14 (0.786)	12 / 18 (0.667)	0 / 0 (0.000)	(264.0)	28	20 / 1.67	0	70	-2
TOTAL:		33 / 42 (0.786)	41 / 54 (0.759)	1 / 1 (1.000)	(258.3)	89	71 / 1.73	1	209	-7

PLAYER HOLE STATISTICS - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00
Par: 36 36 - 72 Yardage: 6649

Ayaka Furue (-7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	11 / 14 (0.786)	14 / 18 (0.778)	0 / 1 (0.000)	(253.0)	29	23 / 1.64	0	69	-3
2	SIA	14 / 14 (1.000)	12 / 18 (0.667)	0 / 0 (0.000)	(250.0)	26	20 / 1.67	0	68	-4
3	SIA	9 / 14 (0.643)	12 / 18 (0.667)	0 / 0 (0.000)	(261.5)	29	22 / 1.83	1	72	E
TOTAL:		34 / 42 (0.810)	38 / 54 (0.704)	0 / 1 (0.000)	(254.8)	84	65 / 1.71	1	209	-7

Cassie Porter (-7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	8 / 14 (0.571)	16 / 18 (0.889)	0 / 0 (0.000)	(271.0)	30	27 / 1.69	0	67	-5
2	SIA	8 / 14 (0.571)	16 / 18 (0.889)	2 / 2 (1.000)	(269.5)	32	30 / 1.88	1	70	-2
3	SIA	10 / 14 (0.714)	8 / 18 (0.444)	0 / 0 (0.000)	(269.0)	26	13 / 1.63	0	72	E
TOTAL:		26 / 42 (0.619)	40 / 54 (0.741)	2 / 2 (1.000)	(269.8)	88	70 / 1.75	1	209	-7

Lindy Duncan (-6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	9 / 14 (0.643)	13 / 18 (0.722)	0 / 1 (0.000)	(261.0)	29	23 / 1.77	1	70	-2
2	SIA	11 / 14 (0.786)	12 / 18 (0.667)	1 / 1 (1.000)	(254.5)	29	20 / 1.67	0	71	-1
3	SIA	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(259.0)	29	24 / 1.71	0	69	-3
TOTAL:		31 / 42 (0.738)	39 / 54 (0.722)	1 / 2 (0.500)	(258.2)	87	67 / 1.72	1	210	-6

Jin Hee Im (-6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	12 / 18 (0.667)	0 / 0 (0.000)	(259.0)	27	19 / 1.58	0	69	-3
2	SIA	12 / 14 (0.857)	9 / 18 (0.500)	2 / 2 (1.000)	(256.0)	26	15 / 1.67	1	70	-2
3	SIA	13 / 14 (0.929)	14 / 18 (0.778)	2 / 2 (1.000)	(249.5)	31	27 / 1.93	1	71	-1
TOTAL:		37 / 42 (0.881)	35 / 54 (0.648)	4 / 4 (1.000)	(254.8)	84	61 / 1.74	2	210	-6

Pornanong Phatlum * (-6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	8 / 14 (0.571)	13 / 18 (0.722)	0 / 0 (0.000)	(241.5)	29	23 / 1.77	0	70	-2
2	SIA	10 / 14 (0.714)	12 / 18 (0.667)	1 / 1 (1.000)	(255.0)	26	19 / 1.58	0	68	-4
3	SIA	9 / 14 (0.643)	12 / 18 (0.667)	0 / 0 (0.000)	(258.5)	30	23 / 1.92	1	72	E
TOTAL:		27 / 42 (0.643)	37 / 54 (0.685)	1 / 1 (1.000)	(251.7)	85	65 / 1.76	1	210	-6

Muni He * (-6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	10 / 14 (0.714)	15 / 18 (0.833)	0 / 1 (0.000)	(255.5)	34	29 / 1.93	1	72	E
2	SIA	12 / 14 (0.857)	15 / 18 (0.833)	0 / 0 (0.000)	(255.5)	25	23 / 1.53	0	64	-8
3	SIA	12 / 14 (0.857)	11 / 18 (0.611)	0 / 0 (0.000)	(261.5)	31	23 / 2.09	1	74	+2
TOTAL:		34 / 42 (0.810)	41 / 54 (0.759)	0 / 1 (0.000)	(257.5)	90	75 / 1.83	2	210	-6

Yan Liu (-5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	8 / 14 (0.571)	11 / 18 (0.611)	0 / 1 (0.000)	(266.0)	30	20 / 1.82	1	75	+3
2	SIA	10 / 14 (0.714)	15 / 18 (0.833)	0 / 1 (0.000)	(261.0)	31	27 / 1.80	0	69	-3
3	SIA	11 / 14 (0.786)	10 / 18 (0.556)	0 / 0 (0.000)	(280.0)	24	14 / 1.40	0	67	-5
TOTAL:		29 / 42 (0.691)	36 / 54 (0.667)	0 / 2 (0.000)	(269.0)	85	61 / 1.69	1	211	-5

PLAYER HOLE STATISTICS - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Rio Takeda (-5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	13 / 14 (0.929)	14 / 18 (0.778)	1 / 1 (1.000)	(270.5)	32	27 / 1.93	2	72	E
2	SIA	9 / 14 (0.643)	12 / 18 (0.667)	1 / 2 (0.500)	(264.5)	28	21 / 1.75	0	69	-3
3	SIA	8 / 14 (0.571)	13 / 18 (0.722)	2 / 3 (0.667)	(273.0)	29	24 / 1.85	1	70	-2
TOTAL:		30 / 42 (0.714)	39 / 54 (0.722)	4 / 6 (0.667)	(269.3)	89	72 / 1.85	3	211	-5

Celine Boutier (-5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	9 / 14 (0.643)	12 / 18 (0.667)	2 / 2 (1.000)	(262.0)	27	20 / 1.67	0	69	-3
2	SIA	8 / 14 (0.571)	9 / 18 (0.500)	2 / 2 (1.000)	(252.5)	28	16 / 1.78	0	72	E
3	SIA	9 / 14 (0.643)	15 / 18 (0.833)	0 / 0 (0.000)	(262.5)	33	28 / 1.87	0	70	-2
TOTAL:		26 / 42 (0.619)	36 / 54 (0.667)	4 / 4 (1.000)	(259.0)	88	64 / 1.78	0	211	-5

Gurleen Kaur (-5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	13 / 14 (0.929)	12 / 18 (0.667)	1 / 2 (0.500)	(251.5)	27	19 / 1.58	0	72	E
2	SIA	13 / 14 (0.929)	16 / 18 (0.889)	0 / 0 (0.000)	(253.5)	27	24 / 1.50	1	64	-8
3	SIA	10 / 14 (0.714)	10 / 18 (0.556)	1 / 1 (1.000)	(262.5)	29	18 / 1.80	1	75	+3
TOTAL:		36 / 42 (0.857)	38 / 54 (0.704)	2 / 3 (0.667)	(255.8)	83	61 / 1.61	2	211	-5

Yealimi Noh (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	8 / 14 (0.571)	11 / 18 (0.611)	0 / 1 (0.000)	(265.0)	31	20 / 1.82	1	75	+3
2	SIA	11 / 14 (0.786)	11 / 18 (0.611)	0 / 1 (0.000)	(276.0)	29	20 / 1.82	1	70	-2
3	SIA	11 / 14 (0.786)	13 / 18 (0.722)	0 / 0 (0.000)	(265.0)	27	22 / 1.69	1	67	-5
TOTAL:		30 / 42 (0.714)	35 / 54 (0.648)	0 / 2 (0.000)	(268.7)	87	62 / 1.77	3	212	-4

Gaby Lopez (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	11 / 18 (0.611)	1 / 1 (1.000)	(256.0)	26	17 / 1.55	0	69	-3
2	SIA	8 / 14 (0.571)	12 / 18 (0.667)	1 / 2 (0.500)	(263.0)	30	20 / 1.67	1	73	+1
3	SIA	8 / 14 (0.571)	11 / 18 (0.611)	1 / 3 (0.333)	(277.5)	25	15 / 1.36	2	70	-2
TOTAL:		28 / 42 (0.667)	34 / 54 (0.630)	3 / 6 (0.500)	(265.5)	81	52 / 1.53	3	212	-4

Akie Iwai (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	7 / 14 (0.500)	12 / 18 (0.667)	0 / 0 (0.000)	(250.0)	28	21 / 1.75	1	71	-1
2	SIA	12 / 14 (0.857)	14 / 18 (0.778)	0 / 1 (0.000)	(231.0)	29	24 / 1.71	0	70	-2
3	SIA	8 / 14 (0.571)	12 / 18 (0.667)	0 / 0 (0.000)	(261.5)	30	23 / 1.92	0	71	-1
TOTAL:		27 / 42 (0.643)	38 / 54 (0.704)	0 / 1 (0.000)	(247.5)	87	68 / 1.79	1	212	-4

Karis Anne Davidson (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	11 / 14 (0.786)	13 / 18 (0.722)	2 / 2 (1.000)	(266.0)	32	26 / 2.00	3	74	+2
2	SIA	13 / 14 (0.929)	13 / 18 (0.722)	1 / 2 (0.500)	(260.5)	26	21 / 1.62	1	66	-6
3	SIA	11 / 14 (0.786)	15 / 18 (0.833)	0 / 0 (0.000)	(248.0)	33	29 / 1.93	1	72	E
TOTAL:		35 / 42 (0.833)	41 / 54 (0.759)	3 / 4 (0.750)	(258.2)	91	76 / 1.85	5	212	-4

PLAYER HOLE STATISTICS - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Ina Yoon (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	9 / 14 (0.643)	11 / 18 (0.611)	0 / 0 (0.000)	(272.5)	23	15 / 1.36	0	67	-5
2	SIA	11 / 14 (0.786)	14 / 18 (0.778)	1 / 3 (0.333)	(277.5)	34	28 / 2.00	1	73	+1
3	SIA	13 / 14 (0.929)	11 / 18 (0.611)	0 / 0 (0.000)	(267.0)	30	21 / 1.91	0	72	E
TOTAL:		33 / 42 (0.786)	36 / 54 (0.667)	1 / 3 (0.333)	(272.3)	87	64 / 1.78	1	212	-4

Jennifer Kupcho (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	8 / 14 (0.571)	13 / 18 (0.722)	0 / 1 (0.000)	(261.5)	27	21 / 1.62	1	68	-4
2	SIA	8 / 14 (0.571)	10 / 18 (0.556)	1 / 2 (0.500)	(274.5)	26	15 / 1.50	0	70	-2
3	SIA	8 / 14 (0.571)	10 / 18 (0.556)	1 / 1 (1.000)	(281.5)	27	16 / 1.60	0	74	+2
TOTAL:		24 / 42 (0.571)	33 / 54 (0.611)	2 / 4 (0.500)	(272.5)	80	52 / 1.58	1	212	-4

Megan Khang (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	11 / 14 (0.786)	11 / 18 (0.611)	0 / 0 (0.000)	(253.0)	31	21 / 1.91	0	75	+3
2	SIA	12 / 14 (0.857)	15 / 18 (0.833)	0 / 0 (0.000)	(256.0)	31	28 / 1.87	0	69	-3
3	SIA	12 / 14 (0.857)	11 / 18 (0.611)	0 / 0 (0.000)	(244.5)	26	19 / 1.73	1	69	-3
TOTAL:		35 / 42 (0.833)	37 / 54 (0.685)	0 / 0 (0.000)	(251.2)	88	68 / 1.84	1	213	-3

Angel Yin (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	11 / 14 (0.786)	13 / 18 (0.722)	0 / 0 (0.000)	(288.0)	29	22 / 1.69	0	69	-3
2	SIA	10 / 14 (0.714)	8 / 18 (0.444)	1 / 2 (0.500)	(273.0)	29	16 / 2.00	1	75	+3
3	SIA	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(276.0)	27	18 / 1.50	0	69	-3
TOTAL:		31 / 42 (0.738)	33 / 54 (0.611)	1 / 2 (0.500)	(279.0)	85	56 / 1.70	1	213	-3

Manon De Roey (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	11 / 18 (0.611)	2 / 4 (0.500)	(270.5)	29	19 / 1.73	1	72	E
2	SIA	13 / 14 (0.929)	11 / 18 (0.611)	0 / 2 (0.000)	(269.5)	28	18 / 1.64	1	71	-1
3	SIA	9 / 14 (0.643)	13 / 18 (0.722)	0 / 0 (0.000)	(261.0)	29	22 / 1.69	0	70	-2
TOTAL:		34 / 42 (0.810)	35 / 54 (0.648)	2 / 6 (0.333)	(267.0)	86	59 / 1.69	2	213	-3

Nataliya Guseva (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	10 / 14 (0.714)	14 / 18 (0.778)	0 / 0 (0.000)	(268.0)	30	25 / 1.79	1	68	-4
2	SIA	12 / 14 (0.857)	13 / 18 (0.722)	0 / 1 (0.000)	(270.0)	30	22 / 1.69	0	74	+2
3	SIA	10 / 14 (0.714)	13 / 18 (0.722)	0 / 4 (0.000)	(275.5)	30	23 / 1.77	0	71	-1
TOTAL:		32 / 42 (0.762)	40 / 54 (0.741)	0 / 5 (0.000)	(271.2)	90	70 / 1.75	1	213	-3

Jin Young Ko (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	9 / 14 (0.643)	11 / 18 (0.611)	2 / 4 (0.500)	(253.5)	28	19 / 1.73	1	72	E
2	SIA	10 / 14 (0.714)	14 / 18 (0.778)	1 / 1 (1.000)	(245.0)	27	24 / 1.71	0	67	-5
3	SIA	7 / 14 (0.500)	11 / 18 (0.611)	0 / 1 (0.000)	(255.0)	26	18 / 1.64	0	74	+2
TOTAL:		26 / 42 (0.619)	36 / 54 (0.667)	3 / 6 (0.500)	(251.2)	81	61 / 1.69	1	213	-3

PLAYER HOLE STATISTICS - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Gemma Dryburgh (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	14 / 18 (0.778)	0 / 1 (0.000)	(255.0)	26	20 / 1.43	1	66	-6
2	SIA	8 / 14 (0.571)	12 / 18 (0.667)	0 / 1 (0.000)	(262.5)	30	22 / 1.83	0	73	+1
3	SIA	11 / 14 (0.786)	12 / 18 (0.667)	1 / 1 (1.000)	(238.0)	31	24 / 2.00	1	74	+2
TOTAL:		31 / 42 (0.738)	38 / 54 (0.704)	1 / 3 (0.333)	(251.8)	87	66 / 1.74	2	213	-3

Rin Yoshida * (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	12 / 18 (0.667)	1 / 2 (0.500)	(253.0)	31	23 / 1.92	2	72	E
2	SIA	13 / 14 (0.929)	13 / 18 (0.722)	1 / 2 (0.500)	(260.0)	29	22 / 1.69	0	71	-1
3	SIA	11 / 14 (0.786)	13 / 18 (0.722)	0 / 1 (0.000)	(237.5)	28	23 / 1.77	0	71	-1
TOTAL:		36 / 42 (0.857)	38 / 54 (0.704)	2 / 5 (0.400)	(250.2)	88	68 / 1.79	2	214	-2

Saki Baba (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	9 / 14 (0.643)	12 / 18 (0.667)	0 / 1 (0.000)	(269.0)	27	21 / 1.75	0	70	-2
2	SIA	7 / 14 (0.500)	10 / 18 (0.556)	0 / 1 (0.000)	(260.0)	30	18 / 1.80	1	72	E
3	SIA	6 / 14 (0.429)	13 / 18 (0.722)	0 / 0 (0.000)	(271.5)	32	26 / 2.00	1	72	E
TOTAL:		22 / 42 (0.524)	35 / 54 (0.648)	0 / 2 (0.000)	(266.8)	89	65 / 1.86	2	214	-2

Gianna Clemente * (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	11 / 14 (0.786)	12 / 18 (0.667)	0 / 0 (0.000)	(265.0)	27	21 / 1.75	0	69	-3
2	SIA	13 / 14 (0.929)	12 / 18 (0.667)	1 / 3 (0.333)	(258.0)	27	18 / 1.50	1	69	-3
3	SIA	11 / 14 (0.786)	7 / 18 (0.389)	0 / 3 (0.000)	(263.5)	28	12 / 1.71	0	76	+4
TOTAL:		35 / 42 (0.833)	31 / 54 (0.574)	1 / 6 (0.167)	(262.2)	82	51 / 1.65	1	214	-2

Ingrid Lindblad (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	8 / 14 (0.571)	15 / 18 (0.833)	3 / 3 (1.000)	(250.0)	31	28 / 1.87	0	70	-2
2	SIA	9 / 14 (0.643)	9 / 18 (0.500)	0 / 0 (0.000)	(255.0)	28	17 / 1.89	1	72	E
3	SIA	7 / 14 (0.500)	11 / 18 (0.611)	0 / 3 (0.000)	(260.5)	31	22 / 2.00	0	74	+2
TOTAL:		24 / 42 (0.571)	35 / 54 (0.648)	3 / 6 (0.500)	(255.2)	90	67 / 1.91	1	216	E

Yuka Saso * (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	11 / 14 (0.786)	9 / 18 (0.500)	0 / 1 (0.000)	(275.5)	28	14 / 1.56	1	74	+2
2	SIA	10 / 14 (0.714)	12 / 18 (0.667)	1 / 2 (0.500)	(275.0)	28	21 / 1.75	0	70	-2
3	SIA	12 / 14 (0.857)	9 / 18 (0.500)	1 / 3 (0.333)	(266.5)	27	17 / 1.89	1	73	+1
TOTAL:		33 / 42 (0.786)	30 / 54 (0.556)	2 / 6 (0.333)	(272.3)	83	52 / 1.73	2	217	+1

Stephanie Kyriacou (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	10 / 14 (0.714)	15 / 18 (0.833)	0 / 0 (0.000)	(262.5)	30	26 / 1.73	0	69	-3
2	SIA	8 / 14 (0.571)	9 / 18 (0.500)	3 / 4 (0.750)	(244.0)	27	17 / 1.89	0	77	+5
3	SIA	4 / 14 (0.286)	9 / 18 (0.500)	0 / 0 (0.000)	(265.0)	26	15 / 1.67	0	72	E
TOTAL:		22 / 42 (0.524)	33 / 54 (0.611)	3 / 4 (0.750)	(257.2)	83	58 / 1.76	0	218	+2

PLAYER HOLE STATISTICS - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Esther Henseleit (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	10 / 14 (0.714)	11 / 18 (0.611)	0 / 2 (0.000)	(266.0)	31	21 / 1.91	0	74	+2
2	SIA	9 / 14 (0.643)	8 / 18 (0.444)	0 / 1 (0.000)	(265.0)	27	15 / 1.88	0	73	+1
3	SIA	13 / 14 (0.929)	14 / 18 (0.778)	1 / 2 (0.500)	(260.0)	32	26 / 1.86	1	72	E
TOTAL:		32 / 42 (0.762)	33 / 54 (0.611)	1 / 5 (0.200)	(263.7)	90	62 / 1.88	1	219	+3

Carlota Ciganda (+4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	9 / 14 (0.643)	10 / 18 (0.556)	0 / 2 (0.000)	(266.5)	28	17 / 1.70	0	75	+3
2	SIA	8 / 14 (0.571)	10 / 18 (0.556)	3 / 4 (0.750)	(265.0)	27	17 / 1.70	1	75	+3
3	SIA	9 / 14 (0.643)	11 / 18 (0.611)	0 / 0 (0.000)	(272.5)	26	20 / 1.82	1	70	-2
TOTAL:		26 / 42 (0.619)	31 / 54 (0.574)	3 / 6 (0.500)	(268.0)	81	54 / 1.74	2	220	+4

Robyn Choi (+5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	11 / 14 (0.786)	9 / 18 (0.500)	0 / 3 (0.000)	(264.5)	30	16 / 1.78	1	74	+2
2	SIA	10 / 14 (0.714)	9 / 18 (0.500)	0 / 2 (0.000)	(247.5)	30	18 / 2.00	2	74	+2
3	SIA	10 / 14 (0.714)	9 / 18 (0.500)	1 / 3 (0.333)	(245.5)	28	16 / 1.78	0	73	+1
TOTAL:		31 / 42 (0.738)	27 / 54 (0.500)	1 / 8 (0.125)	(252.5)	88	50 / 1.85	3	221	+5

Naruha Miyata * (+5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	10 / 14 (0.714)	10 / 18 (0.556)	1 / 2 (0.500)	(268.0)	26	17 / 1.70	0	72	E
2	SIA	11 / 14 (0.786)	11 / 18 (0.611)	1 / 3 (0.333)	(259.5)	30	21 / 1.91	1	75	+3
3	SIA	9 / 14 (0.643)	14 / 18 (0.778)	0 / 2 (0.000)	(261.0)	34	28 / 2.00	1	74	+2
TOTAL:		30 / 42 (0.714)	35 / 54 (0.648)	2 / 7 (0.286)	(262.8)	90	66 / 1.89	2	221	+5

Prim Prachnakorn (a) * (+5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	10 / 14 (0.714)	11 / 18 (0.611)	0 / 2 (0.000)	(255.0)	31	19 / 1.73	0	74	+2
2	SIA	13 / 14 (0.929)	11 / 18 (0.611)	0 / 0 (0.000)	(236.5)	28	18 / 1.64	0	72	E
3	SIA	8 / 14 (0.571)	11 / 18 (0.611)	2 / 3 (0.667)	(243.0)	30	21 / 1.91	2	75	+3
TOTAL:		31 / 42 (0.738)	33 / 54 (0.611)	2 / 5 (0.400)	(244.8)	89	58 / 1.76	2	221	+5

Wei-Ling Hsu (+6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	11 / 14 (0.786)	9 / 18 (0.500)	0 / 0 (0.000)	(253.0)	27	16 / 1.78	1	73	+1
2	SIA	8 / 14 (0.571)	12 / 18 (0.667)	1 / 2 (0.500)	(251.0)	29	21 / 1.75	0	72	E
3	SIA	13 / 14 (0.929)	6 / 18 (0.333)	2 / 2 (1.000)	(249.0)	29	11 / 1.83	1	77	+5
TOTAL:		32 / 42 (0.762)	27 / 54 (0.500)	3 / 4 (0.750)	(251.0)	85	48 / 1.78	2	222	+6

Benedetta Moresco * (+8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	12 / 14 (0.857)	13 / 18 (0.722)	0 / 1 (0.000)	(267.0)	33	23 / 1.77	2	74	+2
2	SIA	11 / 14 (0.786)	13 / 18 (0.722)	0 / 1 (0.000)	(255.5)	33	25 / 1.92	2	75	+3
3	SIA	10 / 14 (0.714)	13 / 18 (0.722)	0 / 1 (0.000)	(255.0)	33	25 / 1.92	1	75	+3
TOTAL:		33 / 42 (0.786)	39 / 54 (0.722)	0 / 3 (0.000)	(259.2)	99	73 / 1.87	5	224	+8

PLAYER HOLE STATISTICS - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Moriya Jutanugarn * (+9)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	9 / 14 (0.643)	9 / 18 (0.500)	1 / 2 (0.500)	(254.5)	27	16 / 1.78	0	73	+1
2	SIA	9 / 14 (0.643)	7 / 18 (0.389)	2 / 3 (0.667)	(160.0)	25	11 / 1.57	0	75	+3
3	SIA	7 / 14 (0.500)	5 / 18 (0.278)	1 / 2 (0.500)	(240.0)	27	9 / 1.80	0	77	+5
TOTAL:		25 / 42 (0.595)	21 / 54 (0.389)	4 / 7 (0.571)	(218.2)	79	36 / 1.71	0	225	+9

Danielle Kang * (+11)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	SIA	13 / 14 (0.929)	6 / 18 (0.333)	1 / 2 (0.500)	(236.0)	25	10 / 1.67	0	73	+1
2	SIA	8 / 14 (0.571)	6 / 18 (0.333)	1 / 4 (0.250)	(236.0)	29	11 / 1.83	0	78	+6
3	SIA	10 / 14 (0.714)	7 / 18 (0.389)	0 / 2 (0.000)	(220.0)	26	13 / 1.86	1	76	+4
TOTAL:		31 / 42 (0.738)	19 / 54 (0.352)	2 / 8 (0.250)	(230.7)	80	34 / 1.79	1	227	+11

SCORECARD SUMMARY - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Jeeno Thitikul (-20)

AFTER ROUND 3 - TOTAL SCORE: 196

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	3	4	3	4	4	5	3	3	33	5	4	2	4	5	4	2	3	4	33	66
RD 2 (SIA)	5	4	3	2	3	4	3	2	4	30	4	3	3	4	4	4	3	4	4	33	63
RD 1 (SIA)	4	4	4	3	4	4	4	3	4	34	4	4	3	4	3	3	3	4	5	33	67

Hyo Joo Kim (-18)

AFTER ROUND 3 - TOTAL SCORE: 198

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	2	4	3	4	3	5	34	4	3	4	3	4	3	2	4	4	31	65
RD 2 (SIA)	5	4	3	2	4	4	4	3	3	32	4	3	3	4	4	3	3	4	5	33	65
RD 1 (SIA)	5	3	4	3	4	5	5	3	4	36	4	3	2	4	4	4	3	4	4	32	68

Allisen Corpuz (-17)

AFTER ROUND 3 - TOTAL SCORE: 199

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	3	5	3	4	4	5	2	4	34	6	4	2	3	3	3	3	4	5	33	67
RD 2 (SIA)	4	4	4	4	3	3	4	3	4	33	4	4	3	4	4	3	2	3	5	32	65
RD 1 (SIA)	5	4	3	3	3	4	5	3	4	34	4	4	3	4	4	4	3	3	4	33	67

Chizzy Iwai (-17)

AFTER ROUND 3 - TOTAL SCORE: 199

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	4	3	4	4	5	3	4	35	5	4	3	3	4	3	3	4	4	33	68
RD 2 (SIA)	4	3	4	2	4	3	4	2	4	30	4	3	3	4	4	3	3	4	4	32	62
RD 1 (SIA)	5	4	4	3	3	4	5	3	5	36	4	4	2	4	3	5	3	3	5	33	69

Somi Lee (-17)

AFTER ROUND 3 - TOTAL SCORE: 199

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	3	4	3	5	5	5	4	4	38	4	3	2	4	5	4	3	4	5	34	72
RD 2 (SIA)	4	3	4	2	3	3	5	2	3	29	4	3	3	4	4	2	3	4	5	32	61
RD 1 (SIA)	5	3	4	3	4	4	4	3	4	34	4	4	2	3	3	4	3	4	5	32	66

Lydia Ko (-16)

AFTER ROUND 3 - TOTAL SCORE: 200

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	2	6	4	6	3	4	38	4	3	2	3	4	4	3	4	4	31	69
RD 2 (SIA)	5	3	4	3	3	3	5	3	4	33	4	4	3	4	3	2	3	4	4	31	64
RD 1 (SIA)	5	4	4	3	3	4	4	3	4	34	4	4	2	4	4	3	4	3	5	33	67

Hannah Green (-15)

AFTER ROUND 3 - TOTAL SCORE: 201

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	3	4	3	4	4	6	3	3	35	5	3	3	3	5	4	3	4	4	34	69
RD 2 (SIA)	5	3	4	3	4	3	4	3	4	33	4	4	2	4	4	3	3	3	5	32	65
RD 1 (SIA)	4	3	4	4	4	4	5	3	5	36	5	3	2	4	3	4	2	4	4	31	67

SCORECARD SUMMARY - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Julia Lopez Ramirez (-15)

AFTER ROUND 3 - TOTAL SCORE: 201

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	4	3	4	4	4	3	4	34	5	3	3	3	3	5	4	5	4	35	69
RD 2 (SIA)	4	4	4	2	4	4	5	2	4	33	4	3	3	3	4	4	3	4	4	32	65
RD 1 (SIA)	5	3	4	2	4	4	4	3	4	33	3	4	4	4	4	4	3	3	5	34	67

Andrea Lee (-14)

AFTER ROUND 3 - TOTAL SCORE: 202

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	3	3	4	3	4	2	4	32	5	4	2	4	3	4	3	5	4	34	66
RD 2 (SIA)	4	4	4	3	4	4	5	2	4	34	4	4	2	4	4	4	4	4	4	34	68
RD 1 (SIA)	4	4	4	4	4	3	5	2	4	34	5	3	3	4	4	4	3	4	4	34	68

Hye-Jin Choi (-13)

AFTER ROUND 3 - TOTAL SCORE: 203

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	3	3	5	3	5	3	4	35	5	3	3	4	3	3	2	4	5	32	67
RD 2 (SIA)	5	4	3	3	4	5	4	3	4	35	4	4	3	4	4	3	3	5	5	35	70
RD 1 (SIA)	4	3	4	2	4	4	5	3	3	32	4	3	3	4	3	4	3	4	6	34	66

Chanoknan Angurasarane * (-12)

AFTER ROUND 3 - TOTAL SCORE: 204

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	3	3	3	3	4	4	3	4	31	4	4	3	4	3	4	3	4	4	33	64
RD 2 (SIA)	5	4	3	3	4	5	4	3	4	35	5	4	2	4	4	3	3	4	5	34	69
RD 1 (SIA)	6	4	5	3	3	5	5	3	3	37	5	4	2	4	4	4	3	4	4	34	71

Auston Kim (-12)

AFTER ROUND 3 - TOTAL SCORE: 204

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	3	2	4	3	5	3	4	32	4	4	3	4	4	3	3	5	5	35	67
RD 2 (SIA)	6	4	3	3	3	4	4	3	4	34	5	4	3	3	5	4	3	4	4	35	69
RD 1 (SIA)	4	4	3	3	4	4	4	2	5	33	3	4	3	5	4	4	3	5	4	35	68

Sei Young Kim (-12)

AFTER ROUND 3 - TOTAL SCORE: 204

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	5	2	3	4	5	3	4	34	4	3	3	4	4	3	3	3	5	32	66
RD 2 (SIA)	4	3	3	3	4	4	3	3	4	31	5	4	3	4	5	3	3	3	4	34	65
RD 1 (SIA)	5	4	4	3	4	4	4	3	4	35	5	4	3	5	4	4	4	4	5	38	73

Mi Hyang Lee (-12)

AFTER ROUND 3 - TOTAL SCORE: 204

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	5	4	3	4	4	5	3	3	35	5	5	2	5	3	4	3	4	5	36	71
RD 2 (SIA)	4	3	3	3	5	3	4	3	4	32	4	4	2	3	4	3	3	4	4	31	63
RD 1 (SIA)	5	4	4	3	3	4	5	3	4	35	6	4	3	3	4	4	3	3	5	35	70

SCORECARD SUMMARY - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Haeran Ryu (-12)

AFTER ROUND 3 - TOTAL SCORE: 204

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	3	4	4	4	3	4	35	5	3	3	3	4	3	3	4	5	33	68
RD 2 (SIA)	4	3	3	2	3	3	5	2	4	29	4	4	3	4	4	4	3	4	5	35	64
RD 1 (SIA)	4	4	4	2	4	4	5	3	4	34	4	4	4	4	4	4	3	5	6	38	72

Chanettee Wannasaen (-12)

AFTER ROUND 3 - TOTAL SCORE: 204

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	3	4	3	4	4	5	3	4	34	5	4	3	3	4	4	3	4	4	34	68
RD 2 (SIA)	5	4	4	3	3	5	4	3	4	35	4	4	3	4	4	4	3	4	6	36	71
RD 1 (SIA)	4	4	3	3	3	4	5	4	3	33	4	3	3	3	4	3	4	4	4	32	65

Yuri Yoshida * (-12)

AFTER ROUND 3 - TOTAL SCORE: 204

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	4	2	4	5	5	3	4	35	5	3	3	3	4	4	3	4	4	33	68
RD 2 (SIA)	5	4	4	3	3	3	4	2	4	32	5	3	3	4	4	4	4	4	4	35	67
RD 1 (SIA)	4	4	4	3	4	3	5	3	4	34	5	4	3	4	4	3	3	4	5	35	69

Ariya Jutanugarn (-11)

AFTER ROUND 3 - TOTAL SCORE: 205

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	5	2	4	4	5	3	4	36	4	4	2	4	4	3	3	4	3	31	67
RD 2 (SIA)	5	5	4	3	3	3	4	4	4	35	4	4	3	4	3	4	3	6	5	36	71
RD 1 (SIA)	5	4	5	2	3	4	5	4	4	36	4	3	2	3	3	4	3	5	4	31	67

Nanna Koerstz Madsen (-11)

AFTER ROUND 3 - TOTAL SCORE: 205

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	3	4	4	5	3	4	36	4	4	3	4	4	3	3	4	4	33	69
RD 2 (SIA)	4	4	3	3	4	4	4	3	4	33	4	4	3	4	4	3	3	5	4	34	67
RD 1 (SIA)	5	4	4	3	4	4	4	4	5	37	4	4	2	3	4	3	3	4	5	32	69

Maja Stark (-11)

AFTER ROUND 3 - TOTAL SCORE: 205

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	4	3	4	4	5	3	4	35	4	4	3	4	4	3	3	4	5	34	69
RD 2 (SIA)	4	4	4	3	4	4	5	3	4	35	5	4	2	3	4	3	3	4	5	33	68
RD 1 (SIA)	4	3	4	3	4	4	4	3	4	33	4	4	2	4	4	5	3	4	5	35	68

Miyu Yamashita (-11)

AFTER ROUND 3 - TOTAL SCORE: 205

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	3	4	3	3	4	6	2	4	33	4	4	3	4	4	4	5	4	5	37	70
RD 2 (SIA)	5	4	4	3	4	3	5	3	4	35	4	4	2	3	4	3	3	4	5	32	67
RD 1 (SIA)	5	4	4	3	4	3	4	2	4	33	4	5	3	3	4	4	3	4	5	35	68

SCORECARD SUMMARY - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Linn Grant (-10)

AFTER ROUND 3 - TOTAL SCORE: 206

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	5	4	2	4	3	5	3	4	35	5	3	3	4	4	3	2	5	4	33	68
RD 2 (SIA)	5	4	3	4	4	3	5	3	4	35	5	3	3	4	4	3	4	4	5	35	70
RD 1 (SIA)	5	5	4	2	4	3	5	2	4	34	5	4	2	4	4	4	3	3	5	34	68

A Lim Kim (-10)

AFTER ROUND 3 - TOTAL SCORE: 206

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	4	2	5	4	4	3	3	33	4	3	2	3	4	4	3	4	4	31	64
RD 2 (SIA)	5	4	4	3	4	4	4	3	4	35	5	3	2	4	4	4	3	4	4	33	68
RD 1 (SIA)	5	4	4	3	4	4	5	3	4	36	4	5	4	3	4	4	3	4	7	38	74

Lucy Li (-10)

AFTER ROUND 3 - TOTAL SCORE: 206

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	3	3	3	3	5	3	4	32	5	3	3	4	3	3	3	4	5	33	65
RD 2 (SIA)	4	4	4	3	4	4	4	3	4	34	4	4	3	4	5	3	3	4	5	35	69
RD 1 (SIA)	4	4	4	3	4	4	5	4	4	36	5	4	4	4	4	3	3	4	5	36	72

Leona Maguire (-10)

AFTER ROUND 3 - TOTAL SCORE: 206

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	3	5	4	2	4	4	4	3	4	33	5	4	3	4	3	3	3	4	5	34	67
RD 2 (SIA)	5	4	3	4	4	4	4	3	5	36	6	3	3	4	4	3	4	4	5	36	72
RD 1 (SIA)	4	4	4	3	4	4	5	3	3	34	5	3	2	4	4	3	4	4	4	33	67

Ruoning Yin (-10)

AFTER ROUND 3 - TOTAL SCORE: 206

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	5	3	4	4	4	2	4	35	5	3	2	4	4	3	3	4	4	32	67
RD 2 (SIA)	4	4	5	2	4	3	4	3	4	33	4	4	3	3	4	4	3	4	7	36	69
RD 1 (SIA)	5	4	4	2	4	4	4	3	5	35	4	4	3	4	4	4	4	3	5	35	70

Nasa Hataoka (-9)

AFTER ROUND 3 - TOTAL SCORE: 207

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	5	4	3	3	5	4	3	5	36	4	5	3	3	3	3	4	4	5	34	70
RD 2 (SIA)	5	3	5	3	4	4	5	4	4	37	3	3	3	4	4	3	4	5	6	35	72
RD 1 (SIA)	4	5	4	2	4	4	4	3	4	34	4	4	2	4	3	3	3	3	5	31	65

Brooke Matthews (-9)

AFTER ROUND 3 - TOTAL SCORE: 207

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	4	3	3	4	5	2	4	33	4	4	4	4	5	4	4	4	4	37	70
RD 2 (SIA)	5	4	6	2	4	3	4	3	3	34	3	4	3	3	3	4	3	3	5	31	65
RD 1 (SIA)	4	4	3	3	4	5	4	4	5	36	5	4	3	4	4	4	3	4	5	36	72

SCORECARD SUMMARY - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Pajaree Anannarukarn (-8)

AFTER ROUND 3 - TOTAL SCORE: 208

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	3	4	3	4	3	4	3	3	32	5	4	3	4	4	4	3	4	5	36	68
RD 2 (SIA)	5	4	4	3	3	5	4	3	4	35	4	4	4	5	4	4	3	4	5	37	72
RD 1 (SIA)	5	4	4	3	4	4	6	3	4	37	5	4	2	3	3	3	3	3	5	31	68

Jenny Bae (-8)

AFTER ROUND 3 - TOTAL SCORE: 208

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	3	4	4	5	3	5	37	5	3	3	3	4	4	3	3	4	32	69
RD 2 (SIA)	5	4	4	4	4	4	5	2	4	36	5	4	3	4	4	2	4	3	4	33	69
RD 1 (SIA)	5	4	3	3	4	4	5	3	4	35	5	4	3	4	4	4	3	4	4	35	70

Minami Katsu (-8)

AFTER ROUND 3 - TOTAL SCORE: 208

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	2	5	3	5	3	4	35	4	6	3	4	5	3	2	4	7	38	73
RD 2 (SIA)	4	3	3	3	3	4	5	3	4	32	4	3	2	3	4	3	3	7	4	33	65
RD 1 (SIA)	5	4	5	2	4	4	5	3	4	36	4	4	3	3	4	4	3	4	5	34	70

Grace Kim (-8)

AFTER ROUND 3 - TOTAL SCORE: 208

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	4	3	4	4	4	4	5	36	5	4	3	4	5	3	3	6	4	37	73
RD 2 (SIA)	5	3	3	3	4	4	4	3	5	34	4	3	3	4	4	3	4	4	5	34	68
RD 1 (SIA)	5	3	4	3	4	3	4	3	4	33	4	4	3	4	3	4	3	5	4	34	67

Pauline Roussin-Bouchard (-8)

AFTER ROUND 3 - TOTAL SCORE: 208

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	4	4	3	4	4	4	36	4	4	2	4	3	5	3	4	4	33	69
RD 2 (SIA)	4	6	4	3	4	4	5	3	3	36	5	4	3	4	4	3	3	4	5	35	71
RD 1 (SIA)	4	4	4	3	4	4	5	3	5	36	4	3	2	4	4	3	3	4	5	32	68

Ayaka Furue (-7)

AFTER ROUND 3 - TOTAL SCORE: 209

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	5	4	2	5	4	4	3	4	36	6	4	3	4	4	4	3	4	4	36	72
RD 2 (SIA)	5	4	4	3	4	3	4	3	4	34	5	4	3	4	3	3	3	4	5	34	68
RD 1 (SIA)	5	3	4	3	4	5	4	3	5	36	5	4	3	3	3	4	2	4	5	33	69

Brooke M. Henderson (-7)

AFTER ROUND 3 - TOTAL SCORE: 209

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	2	4	4	4	2	4	33	6	4	3	5	4	4	2	4	5	37	70
RD 2 (SIA)	5	3	4	3	4	4	4	3	5	35	3	4	3	4	4	4	3	4	4	33	68
RD 1 (SIA)	5	4	4	3	4	3	5	2	4	34	4	4	4	5	4	4	4	4	4	37	71

SCORECARD SUMMARY - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Cassie Porter (-7)

AFTER ROUND 3 - TOTAL SCORE: 209

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	3	3	4	4	5	3	4	34	4	5	3	4	4	5	4	4	5	38	72
RD 2 (SIA)	4	4	4	3	4	4	4	3	4	34	5	4	3	4	4	3	4	4	5	36	70
RD 1 (SIA)	3	4	4	4	4	3	5	3	4	34	5	3	3	4	4	3	3	3	5	33	67

Lottie Woad (-7)

AFTER ROUND 3 - TOTAL SCORE: 209

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	3	3	4	4	4	3	4	33	4	3	3	3	4	4	3	6	4	34	67
RD 2 (SIA)	5	3	4	3	4	4	4	2	5	34	5	4	3	4	4	4	4	3	6	37	71
RD 1 (SIA)	5	4	4	2	4	4	4	3	5	35	4	4	3	4	5	4	3	4	5	36	71

Lindy Duncan (-6)

AFTER ROUND 3 - TOTAL SCORE: 210

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	4	3	4	3	5	3	4	34	5	4	3	4	4	3	4	4	4	35	69
RD 2 (SIA)	6	4	4	3	3	4	4	3	4	35	6	4	3	3	4	4	4	4	4	36	71
RD 1 (SIA)	4	4	4	3	3	4	6	3	4	35	4	4	3	3	4	4	4	4	5	35	70

Muni He * (-6)

AFTER ROUND 3 - TOTAL SCORE: 210

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	3	4	5	5	3	4	37	5	4	3	4	5	5	3	4	4	37	74
RD 2 (SIA)	4	3	4	3	4	4	4	2	4	32	4	4	2	4	4	3	3	4	4	32	64
RD 1 (SIA)	4	3	4	4	4	4	5	3	4	35	5	4	3	4	4	5	3	4	5	37	72

Jin Hee Im (-6)

AFTER ROUND 3 - TOTAL SCORE: 210

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	3	4	3	4	4	5	3	4	35	5	4	3	4	4	3	3	5	5	36	71
RD 2 (SIA)	4	4	4	3	4	3	4	3	5	34	4	4	2	5	5	4	3	4	5	36	70
RD 1 (SIA)	4	3	3	2	4	4	5	3	5	33	4	3	3	4	5	4	4	4	5	36	69

Pornanong Phatlum * (-6)

AFTER ROUND 3 - TOTAL SCORE: 210

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	3	5	4	4	3	4	36	5	4	3	4	4	4	3	3	6	36	72
RD 2 (SIA)	4	4	4	3	4	3	4	3	4	33	4	4	3	4	4	4	3	3	6	35	68
RD 1 (SIA)	5	4	4	3	4	5	5	2	4	36	5	4	2	4	4	3	3	4	5	34	70

Celine Boutier (-5)

AFTER ROUND 3 - TOTAL SCORE: 211

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	5	3	3	5	4	4	3	4	36	5	4	3	4	3	3	3	4	5	34	70
RD 2 (SIA)	4	4	4	3	5	4	4	3	4	35	5	5	3	4	4	3	4	4	5	37	72
RD 1 (SIA)	5	4	3	3	4	4	4	3	4	34	5	5	3	3	4	4	3	4	4	35	69

SCORECARD SUMMARY - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Gurleen Kaur (-5)

AFTER ROUND 3 - TOTAL SCORE: 211

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	6	2	4	4	4	4	5	38	4	4	3	4	4	4	3	5	6	37	75
RD 2 (SIA)	4	3	4	3	2	4	3	2	3	28	5	5	3	3	5	3	3	4	5	36	64
RD 1 (SIA)	5	5	4	2	4	4	8	3	4	39	4	3	2	4	4	5	2	4	5	33	72

Yan Liu (-5)

AFTER ROUND 3 - TOTAL SCORE: 211

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	6	4	2	3	4	4	2	5	34	4	4	3	3	4	3	4	3	5	33	67
RD 2 (SIA)	5	3	4	3	4	4	4	3	4	34	4	4	3	4	4	4	4	3	5	35	69
RD 1 (SIA)	5	5	4	3	3	4	4	4	5	37	5	3	2	4	4	5	4	6	5	38	75

Rio Takeda (-5)

AFTER ROUND 3 - TOTAL SCORE: 211

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	3	3	4	3	5	3	4	33	5	5	3	3	5	4	3	4	5	37	70
RD 2 (SIA)	5	4	3	2	3	4	5	3	4	33	4	4	4	5	4	3	3	4	5	36	69
RD 1 (SIA)	5	4	4	3	3	4	4	4	4	35	4	4	3	4	4	4	4	5	5	37	72

Karis Anne Davidson (-4)

AFTER ROUND 3 - TOTAL SCORE: 212

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	3	4	3	4	4	6	3	4	35	5	5	3	4	4	4	3	4	5	37	72
RD 2 (SIA)	4	3	3	3	3	3	5	2	4	30	5	4	3	4	4	4	3	4	5	36	66
RD 1 (SIA)	5	5	5	3	4	4	5	3	5	39	4	4	2	4	4	4	4	5	4	35	74

Akie Iwai (-4)

AFTER ROUND 3 - TOTAL SCORE: 212

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	3	3	4	4	5	3	4	34	5	5	3	4	4	3	3	4	6	37	71
RD 2 (SIA)	4	3	4	3	4	5	5	3	4	35	4	4	3	4	5	3	3	4	5	35	70
RD 1 (SIA)	5	3	4	3	4	4	5	4	3	35	4	6	3	4	4	3	3	4	5	36	71

Jennifer Kupcho (-4)

AFTER ROUND 3 - TOTAL SCORE: 212

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	6	3	3	4	5	3	4	36	5	5	3	4	3	5	3	6	4	38	74
RD 2 (SIA)	5	4	3	3	3	4	4	2	4	32	4	4	3	5	5	3	3	5	6	38	70
RD 1 (SIA)	4	4	4	2	4	3	5	4	4	34	4	4	2	4	4	5	2	4	5	34	68

Gaby Lopez (-4)

AFTER ROUND 3 - TOTAL SCORE: 212

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	5	4	4	7	4	5	2	3	38	4	3	3	3	5	3	2	4	5	32	70
RD 2 (SIA)	5	4	5	3	3	4	4	5	6	39	5	4	2	4	3	4	3	4	5	34	73
RD 1 (SIA)	4	3	4	3	4	3	4	3	5	33	5	4	3	4	3	4	4	4	5	36	69

SCORECARD SUMMARY - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Yealimi Noh (-4)

AFTER ROUND 3 - TOTAL SCORE: 212

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	3	5	3	4	2	5	4	4	35	4	3	3	3	4	3	3	5	4	32	67
RD 2 (SIA)	4	4	4	3	4	4	4	3	4	34	5	5	3	4	4	3	3	5	4	36	70
RD 1 (SIA)	4	4	4	4	4	4	4	3	5	36	5	4	3	4	5	3	3	6	6	39	75

Ina Yoon (-4)

AFTER ROUND 3 - TOTAL SCORE: 212

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	3	4	5	5	3	3	36	5	4	3	4	5	3	3	4	5	36	72
RD 2 (SIA)	5	4	4	3	4	5	5	3	4	37	5	4	3	4	4	4	4	4	4	36	73
RD 1 (SIA)	4	4	4	3	4	3	4	2	3	31	4	4	2	4	4	4	4	5	5	36	67

Manon De Roey (-3)

AFTER ROUND 3 - TOTAL SCORE: 213

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	3	5	4	4	3	3	35	6	4	3	4	4	3	3	4	4	35	70
RD 2 (SIA)	5	4	4	3	4	3	4	2	5	34	4	5	3	4	4	5	3	3	6	37	71
RD 1 (SIA)	5	4	4	2	3	4	4	4	4	34	4	4	3	4	5	4	4	5	5	38	72

Gemma Dryburgh (-3)

AFTER ROUND 3 - TOTAL SCORE: 213

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	3	3	4	5	5	3	5	37	4	4	3	4	4	4	3	6	5	37	74
RD 2 (SIA)	5	4	4	3	6	4	6	3	4	39	5	4	3	4	4	3	3	4	4	34	73
RD 1 (SIA)	5	5	3	2	5	3	4	3	5	35	3	3	2	3	4	4	3	4	5	31	66

Nataliya Guseva (-3)

AFTER ROUND 3 - TOTAL SCORE: 213

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	5	3	4	4	4	3	4	36	5	4	2	4	4	3	3	5	5	35	71
RD 2 (SIA)	5	4	4	5	4	4	4	2	4	36	5	4	2	4	4	3	4	4	8	38	74
RD 1 (SIA)	4	4	4	3	4	3	5	3	4	34	4	4	4	4	4	3	3	3	5	34	68

Megan Khang (-3)

AFTER ROUND 3 - TOTAL SCORE: 213

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	3	4	3	5	2	5	35	5	3	3	3	5	3	3	4	5	34	69
RD 2 (SIA)	4	4	4	3	4	3	5	3	3	33	5	4	3	4	4	4	3	4	5	36	69
RD 1 (SIA)	5	4	4	3	4	4	5	3	4	36	7	5	2	4	4	5	3	4	5	39	75

Jin Young Ko (-3)

AFTER ROUND 3 - TOTAL SCORE: 213

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	6	3	4	4	4	3	4	37	6	4	3	3	5	3	3	6	4	37	74
RD 2 (SIA)	5	4	4	3	4	3	4	3	4	34	5	4	2	3	4	4	2	4	5	33	67
RD 1 (SIA)	4	4	4	3	4	4	6	4	5	38	6	4	2	4	4	3	2	4	5	34	72

SCORECARD SUMMARY - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Angel Yin (-3)

AFTER ROUND 3 - TOTAL SCORE: 213

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	3	4	4	2	4	4	6	3	5	35	5	4	4	3	3	3	3	5	4	34	69
RD 2 (SIA)	5	4	5	3	4	4	6	3	4	38	5	4	4	4	4	4	4	4	4	37	75
RD 1 (SIA)	4	4	4	3	4	4	4	3	4	34	4	3	3	3	4	5	3	5	5	35	69

Saki Baba (-2)

AFTER ROUND 3 - TOTAL SCORE: 214

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	4	3	5	4	6	3	4	37	5	4	3	4	4	4	3	4	4	35	72
RD 2 (SIA)	5	5	4	2	4	4	4	3	4	35	4	3	3	4	5	3	4	5	6	37	72
RD 1 (SIA)	5	4	3	4	3	4	5	2	4	34	5	4	3	4	4	4	3	4	5	36	70

Gianna Clemente * (-2)

AFTER ROUND 3 - TOTAL SCORE: 214

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	6	4	4	2	5	4	5	4	4	38	5	3	3	5	4	4	4	4	6	38	76
RD 2 (SIA)	5	4	3	3	5	5	4	3	3	35	4	3	3	3	5	3	3	5	5	34	69
RD 1 (SIA)	4	4	4	2	3	5	5	3	4	34	4	4	3	4	4	4	3	4	5	35	69

Rin Yoshida * (-2)

AFTER ROUND 3 - TOTAL SCORE: 214

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	5	4	3	4	4	5	2	4	36	5	4	3	5	4	3	3	4	4	35	71
RD 2 (SIA)	5	4	4	4	4	3	4	3	3	34	4	5	3	4	4	4	3	4	6	37	71
RD 1 (SIA)	5	4	4	3	4	4	4	4	4	36	5	4	3	4	3	4	4	5	4	36	72

Ingrid Lindblad (E)

AFTER ROUND 3 - TOTAL SCORE: 216

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	3	5	4	4	5	5	38	74
RD 2 (SIA)	5	4	5	2	5	4	4	3	4	36	4	4	3	4	4	3	4	4	6	36	72
RD 1 (SIA)	5	4	4	3	4	4	4	3	4	35	4	4	3	4	4	4	3	4	5	35	70

Yuka Saso * (+1)

AFTER ROUND 3 - TOTAL SCORE: 217

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	4	4	4	5	4	3	4	36	5	4	4	4	5	4	3	4	4	37	73
RD 2 (SIA)	5	4	4	3	4	4	3	3	4	34	4	4	3	4	5	3	3	4	6	36	70
RD 1 (SIA)	5	4	4	3	4	3	5	5	4	37	4	6	3	4	3	3	4	5	5	37	74

Stephanie Kyriacou (+2)

AFTER ROUND 3 - TOTAL SCORE: 218

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	6	4	5	2	4	4	4	4	4	37	5	4	2	4	4	4	3	4	5	35	72
RD 2 (SIA)	4	4	5	3	4	4	9	3	4	40	5	4	3	4	5	4	4	4	4	37	77
RD 1 (SIA)	4	5	4	2	4	5	5	2	4	35	4	4	3	3	4	4	3	4	5	34	69

SCORECARD SUMMARY - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Esther Henseleit (+3)

AFTER ROUND 3 - TOTAL SCORE: 219

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	3	3	3	5	4	5	4	4	36	4	4	3	4	4	4	3	5	5	36	72
RD 2 (SIA)	5	4	4	3	4	4	3	3	5	35	5	4	2	4	5	4	3	4	7	38	73
RD 1 (SIA)	5	4	5	2	4	4	5	3	5	37	5	4	4	4	4	4	3	4	5	37	74

Carlota Ciganda (+4)

AFTER ROUND 3 - TOTAL SCORE: 220

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	4	3	5	4	5	2	4	35	5	4	2	4	4	4	3	5	4	35	70
RD 2 (SIA)	4	4	4	3	4	3	4	3	5	34	4	4	3	5	6	4	3	5	7	41	75
RD 1 (SIA)	4	4	4	2	6	4	5	3	4	36	5	3	4	4	5	5	3	4	6	39	75

Robyn Choi (+5)

AFTER ROUND 3 - TOTAL SCORE: 221

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	5	3	4	4	5	3	4	36	6	4	3	4	4	3	3	5	5	37	73
RD 2 (SIA)	5	4	4	3	4	4	4	3	5	36	5	4	3	4	4	4	4	5	5	38	74
RD 1 (SIA)	5	4	4	4	4	4	4	5	4	38	4	5	3	4	4	4	4	3	5	36	74

Naruha Miyata * (+5)

AFTER ROUND 3 - TOTAL SCORE: 221

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	6	4	4	3	3	4	6	3	4	37	6	4	2	4	4	4	3	5	5	37	74
RD 2 (SIA)	4	4	4	4	4	4	5	3	5	37	5	4	3	4	6	4	4	4	4	38	75
RD 1 (SIA)	4	5	4	2	4	4	4	3	4	34	6	4	2	5	4	4	3	5	5	38	72

Prim Prachnakorn (a) * (+5)

AFTER ROUND 3 - TOTAL SCORE: 221

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	4	3	4	5	5	4	6	40	4	5	3	4	4	5	3	3	4	35	75
RD 2 (SIA)	5	3	4	3	4	4	4	3	5	35	5	4	3	3	6	3	4	4	5	37	72
RD 1 (SIA)	4	4	5	3	5	4	5	3	4	37	5	4	4	3	5	4	3	3	6	37	74

Wei-Ling Hsu (+6)

AFTER ROUND 3 - TOTAL SCORE: 222

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	4	4	4	3	4	4	6	3	5	37	5	4	4	5	4	4	3	6	5	40	77
RD 2 (SIA)	5	3	5	3	4	4	4	2	5	35	5	4	3	4	4	4	3	5	5	37	72
RD 1 (SIA)	5	3	4	3	4	3	5	3	4	34	4	5	4	4	4	4	4	4	6	39	73

Benedetta Moresco * (+8)

AFTER ROUND 3 - TOTAL SCORE: 224

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	3	4	4	5	5	3	3	36	5	4	3	4	5	4	4	5	5	39	75
RD 2 (SIA)	4	3	4	4	4	4	4	5	5	37	5	4	4	5	4	4	3	5	4	38	75
RD 1 (SIA)	4	4	4	4	5	4	4	4	3	36	4	5	2	4	5	3	3	6	6	38	74

SCORECARD SUMMARY - By Leaderboard

2026 Honda LPGA Thailand

Siam Country Club, Old Course

Saturday, February 21, 2026

Purse: \$1,800,000.00

Par: 36 36 - 72 Yardage: 6649

Moriya Jutanugarn * (+9)

AFTER ROUND 3 - TOTAL SCORE: 225

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	4	5	4	4	5	5	2	5	39	5	4	3	5	5	4	3	4	5	38	77
RD 2 (SIA)	5	3	4	3	4	3	5	3	4	34	5	5	2	5	6	4	4	5	5	41	75
RD 1 (SIA)	5	4	4	3	4	3	5	5	4	37	4	4	3	4	4	4	4	4	5	36	73

Danielle Kang * (+11)

AFTER ROUND 3 - TOTAL SCORE: 227

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR: (SIA)	5	4	4	3	4	4	5	3	4	36	5	4	3	4	4	4	3	4	5	36	72
RD 3 (SIA)	5	6	4	3	6	4	6	3	4	41	4	4	4	4	4	3	3	4	5	35	76
RD 2 (SIA)	6	5	4	4	4	6	4	3	4	40	5	4	3	4	5	4	3	4	6	38	78
RD 1 (SIA)	5	4	5	4	4	3	5	4	4	38	5	4	3	4	4	4	3	4	4	35	73

2026 Honda LPGA Thailand

Round 3 Hole Summary

Saturday, February 21, 2026
Siam Country Club, Old Course

Purse: \$1,800,000.00
Par: 36 36 - 72 Yardage: 6649

Hole	Par	Rnd 1	Rnd 2	Rnd 3	Tm Total	Rank	RND 3:	Rank	-2	-1	0	+1	+2	Other
1	5	4.569	4.653	4.556	4.593	17	RND 3:	18	2	31	36	3	0	0
							Total:		3	89	117	7	0	0
2	4	3.931	3.778	4.000	3.903	8	RND 3:	7	0	12	50	8	2	0
							Total:		0	46	148	19	3	0
3	4	3.972	3.889	4.028	3.963	6	RND 3:	6	0	13	47	9	3	0
							Total:		0	39	150	23	4	0
4	3	2.861	2.986	2.833	2.894	10	RND 3:	12	0	17	50	5	0	0
							Total:		0	47	146	22	1	0
5	4	3.889	3.833	4.139	3.954	7	RND 3:	2	0	9	48	12	2	1
							Total:		1	38	153	19	4	1
6	4	3.875	3.806	3.944	3.875	11	RND 3:	9	1	12	49	10	0	0
							Total:		1	51	139	24	1	0
7	5	4.681	4.319	4.792	4.597	16	RND 3:	13	0	24	39	9	0	0
							Total:		5	98	97	14	0	2
8	3	3.153	2.861	2.958	2.991	5	RND 3:	8	0	12	51	9	0	0
							Total:		0	37	149	25	5	0
9	4	4.139	4.097	4.056	4.097	3	RND 3:	3	0	9	51	11	1	0
							Total:		0	24	149	41	2	0
Out	36	35.070	34.222	35.306	34.867		RND 3:		3	139	421	76	8	1
							Total:		10	469	1248	194	20	3
10	5	4.431	4.458	4.750	4.546	18	RND 3:	15	0	25	40	7	0	0
							Total:		6	100	97	12	1	0
11	4	3.944	3.889	3.875	3.903	8	RND 3:	11	0	19	44	8	1	0
							Total:		0	48	144	21	3	0
12	3	2.792	2.847	2.889	2.843	13	RND 3:	10	0	14	52	6	0	0
							Total:		0	54	142	20	0	0
13	4	3.833	3.917	3.792	3.847	12	RND 3:	13	0	21	45	6	0	0
							Total:		0	50	149	17	0	0
14	4	3.917	4.222	4.042	4.060	4	RND 3:	5	0	13	43	16	0	0
							Total:		0	31	145	36	4	0
15	4	3.875	3.458	3.625	3.653	15	RND 3:	16	0	33	33	6	0	0
							Total:		3	85	112	16	0	0
16	3	3.194	3.278	3.056	3.176	1	RND 3:	3	0	7	55	9	1	0
							Total:		0	14	151	50	1	0
17	4	4.069	4.111	4.292	4.157	2	RND 3:	1	0	6	45	15	6	0
							Total:		0	28	138	39	10	1
18	5	4.903	4.958	4.611	4.824	14	RND 3:	17	1	32	34	4	1	0
							Total:		1	71	116	22	5	1
In	36	34.958	35.138	34.932	35.009		RND 3:		1	170	391	77	9	0
							Total:		10	481	1194	233	24	2
TOTAL	72	70.028	69.360	70.238	69.876		RND 3:		4	309	812	153	17	1
							Total:		20	950	2442	427	44	5